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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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05:00 210 10.0 BE| 1RRi%Z@05:00 KENFEFF (RFAAIEREEE)
06:20 210 10.0 f5| 1RRIZ@06:20 KRENFEFF (RAIEREER)
07:45 210 10.0 fe| 1Ri%007:45 KHEF (CRAEES)
08:45 210 10.0 f5| {Ri%@08:45 RHAMIEF (RAEZRER)
09:30 210 10.0 B5| 1Ri%@09:30 KRHEIEF (KRAEZRE)
10:15 210 10.0 Re| 1Ri%0@10:15 KEEF CGRAEES)
11:00 210 10.0 B5| 1Rig011:00 REAFEF (RAEZREE)
11:55 210 10.0 Bg| {Ri%e11:55 RHEF (REAERSE)
12:45 210 10.0 Re| 1Ri%0@12:45 KHEF (CRBEES)
13:25 210 10.0 f5| 1Rig013:25 RHAMEF (CRAEZREE)
14:15 210 10.0 BE| 1RiZ@14:15 KREFEF (RAERSE)
14:55 210 10.0 f5| {Ri%014:55 RHEIZEF (KAERE)
15:55 210 10.0 Be| 1Ri%@15:55 KHIEF (KAEES)
23] 3150.0 (15:%) 150. 0 32353 %EC: 1305.0, PH: 6.9

LOREBRTC R IRMERIE Y (210 vs 30.0))

ZRIA L PRIEEL69. 0 ml.

unusual large postFgEt from yesterday (86), set to 30.0 ml.

RE R i B RECEIHE TR K.

[E];KREC 3404.0 K5, ZEiLFHAKECAE & htE R
HEEIHECE (1450. 0 vs 3404.0) 15

REXR BB HEREC/PHIEER K, 7]

EEALEEPS S




XX6_0, Day=204.0 (2025-05-18)

10.0 Fm————— e ———— ]
VI,VO,I9 V,ET - VI, VO, FVI, EVO, FRV, adjFRV, ET 95 | 100
5.0 A - 50
2.5 1 - 25
00 00
0.0 -0
80 4 FRV u
T
£ 60
©
ey
— 40
E
= 20
e - loe--M"€4T-ee_———e———_—,—_—"_t o —_——_—_
1.0
n
0.8
0.6 -
0.4 1
0.2 A ; .
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 ] TargetEC=1200.0, TargetSetEC=1305.0 t
0.6 -
0.4 1
0.2 A - —1—
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 0, TargetSetPH=6.9 N
0.6 -
0.4 4
0.2 A - —1—
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
3 100 Bylnit @307 02:34: ET=123 Fg=160.0 Ro=52.0 4300
c i 1
()]
= 1
e : e o 6 9O L 200
< 1 L @ ® @
= I
~ 1 - 100
—
Ll 1
1
0 PR W - S— D 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
2 100 A 5 £ 5 A 5 £ 5 A 5 £ 5 A 5 £ 5 A | 5 £ 5 A 5
% ByEt @D204 19:01: ET=142 Fg=69. 0 Ro=nan 1
~ 1 - 200
£ oo —o
< 1
E 50 - :
~ - 100
+
T G A A ~I/oocooocoo+cooo
I 1
0 P PN o . P S m— I— 0
0 1 2 3 4 5 6 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
S0l lBEIBE B W | W | | % | m | w | | | & | B |65 | | W | s | BE | a5 | m | BR | W | BE | &8 | 00
c 1
% ByWoFv @D207 02:34: ET=95 |Fg=150.0 Ro=40.0
N : - 200
< 1
= 1
£ I L 100
5 i
1
1 0
0.6 -
0.4 1
0.2 A
0.0
[ } — 4

[ ] | _obs
—@— PPFD obs

37 * ® ® VP

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



hour

7:50

9:35

10:40

11:45

12:50

14:10

100

80

- 60

- 40

20



XX6

BTiE) | BRI () | s (EA/#R) | XS R

07:50 61 20.0 Re| 1Ri%@07:50 KENiEF (KAEES)
08:15 61 20.0 f5| {Ri@08:15 RAMIEF (RAEZRER)
09:35 61 20.0 BE| 1Rig@09:35 KEIEF (RAHERE)
10:40 61 20.0 f5| 1Ri%010:40 REFZEF (KRAEZRE)
11:45 61 20.0 B5| 1Rig011:45 RAZEF (RAEZRERE)
12:50 61 20.0 Bg| 1Ri%@12:50 RHEEF (REAERSE)
14:10 61 20.0 fe| 1Ri%014:10 REFEF (KAERE)
29| 427.0 (TR 140.0 3EGHIKEC: 1305.0, PH: 6.9

RER i3 B RECEEBHR K.

[E&REC 3404.0 K5, iV F{KECHE& P%ER
HEEKECE (1450. 0 vs 3404.0) 15

REREBFHEREC/PHEERK, W]

ok

Be

FNRER K




FRV (ml plant-1)
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